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@ 3x+1=4dx © 3y+1=1
® —-y+1l=x-2 @ 4(2-x) =8-4x

@ 2(x-1)=2x-2
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4—x+bx=ax+b




4] sk Lol ik ke shis?

@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2
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A AFF ol 22 4000 9, 10000 ¥o] Eof At
E A2 500 YA A=3517]= SHlT
of Lotz = 7ol x /Y St &

@ 4000 + 1000x = 10000 + 500x
@ 4000x + 1000 = 10000x + 500

® 4000x + 1000x = 10000x + 500x
@ (4000 + 1000)x = (10000 + 500)x

® 4000 + 10000 = x



?

=
ol

@ -9

O 13



10.

o R

B
-
o
.

[e]
?

@ 3

5= 371 9] 3 9] Bj4=2]

1= ]

ol 126 4 o, 7h2H 4] 2t AFEl9



11. 5 A ApollA ZF A=) 2219 9h2 90]al o] F4+= 49| 2
SApet A o] Abe] S:AbE HHE SE T 45 THE o] Aot o 4220719
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13. xof BFAHA 5-2(x—1) = —5(x+1) 2] S} %(x—i—l)
o] Sfi7t 22 ), a o] FH2?

@ -3 @ -1 @1 @ 3 ® 5
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